= o
A & 0l & AF 2 E A A
20209 = =0l &t LB AZH S
AL sH
WHO A2 S Al D& =E
AVCA FE Y L 29 CERED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
AL S 19,696,438 12,413,534 7,282,904
s 1,410,000
J| 2,758,040
= 1,638,672
Al 13,889,726
0 HZEAl JI&XE 631,341 744,490 A 113,149
ALEA FH OOHE 2 29 147,000 139,400 7,600
WHO AT Al =& 19,000 19,400 A 400
201 Let24d] 10,600 11,000 A 400
01 At 22l 7,800 8,200 A 400
Oget=&H| 5,700
PATZA RS2 S2W WA
50,000& x10¢! 500
DA -2 AZEA I8 - AEXY It S
=1l 100,000 »321 43| 1,200
DAHLEA 222 AH 10,000& 4004 4,000
O3 2d=¢ 2,100
DAL Al N2 &€
70,0003 x15Q1+23] 2,100
02 =24l 2,800 2,800 0
O1 3323 ¥ HMA 2,800
DWHO MEHZE QA2 ZAIHY A3H| (5258)
800,000& x13] 800
DOUst2A2 A2 Halb|
2,000,000& 13 2,000
202 o4dl 8,400 8,400 0
01 = LH o4 1l 8,400 8,400 0
OALEA FRF& 700,000& x12& 8,400
HBEZA S2AY =& 20,000 20,000 0
307 21201 A 20,000 20,000 0
02 QB LAANHEX 20,000 20,000 0
OHZEA B22A =& 20,000,000& =14 20,000
EFAE HL2HNE 80,000 80,000 0
201 Let24d] 80,000 80,000 0
03 A2 S HI 80,000 80,000 0
OJFAL HL22NE 80,000,000& =14l 80,000
FFAL AL=H 20,000 20,000 0
307 gl2tol & 20,000 20,000 0
04 DI2HHALALSE E X 20,000 20,000 0
02020 A2 HZ=H 20,000,000& =14l 20,000
HBEA 2 HES HAE 222 8,000 0 8,000




2N AIHF Y
M WHO A2 & Al D22 EH

SRl AUTA FH K U 29 (ero: @ 9)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
201 ¢er24| 8,000 0 8,000
01 At 22l 8,000 0 8,000
O1 get==2Hl 8,000
DATZAl FHSe HAE 82 2SI
2,000,000 »34! 6,000
DATZAl IMS2 S22 HMH
2,000,000 » 14 2,000
I2s+ 84 325,000 340,000 A 15,000
o T8 X& 125,000 125,000 0
307 glz2tol & 125,000 125,000 0
04 QIZFHALAIH E = 125,000 125,000 0
OZzs= =¢dl X 125,000,000 = 14! 125,000
Z2s7 827 dAXNRA 130,000 130,000 0
307 glz2+ol & 130,000 130,000 0
04 QIZFHALAIH B = 130,000 130,000 0
OZ2s+ 830 8AXA
130,000, 000& * 14! 130,000
DI2s7 HIHZZE RSHAXE 70,000 70,000 0
201 Let24E] 70,000 70,000 0
03 &Ar2 Z I 70,000 70,000 0
OZs— HIHZBEE SHAMNEH
70,000,000 =14 70,000
ANYAHLSH 159,341 265,090 A 105,749
NS AZ2el M- XA 100,000 100,000 0
307 gl2tol & 100,000 100,000 0
02 It M AHE L 100,000 100,000 0
OXEE A2 2e| AtgH X2
100,000, 000& * 14 100,000
SUME100 FFMEASHEH K& 59,341 0 59,341
101 @124l 59,341 0 59,341
04 JIZHHZ2Z2XNSE =+ 59,341 0 59,341
O2S M A 36,245
>olEs 113,000& »221 x45 10,170
DEsd 113,000 #2018 1,808
PRI RS 2,875,850% x221 43| 23,007
>I0HZ 11,978,000% *4.5/100 540
DALES 11,978,000& *3.23/100 387
DEIRALEH 386,889& *8.51/100 33
PNEEE 11,978,000& *1.5/100 180
>ATHEE 11,978,000& *1/100 120
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M WHO A2 E Al JIEXH
el AIRIALEX
SA BB O () - NRAY - HES il
OME=ZFA 23,096
>ol=s 72,0003 2021 45! 6,480
PEsd 72,0002 2018 1,152
D&z 1,832,400& »2Q! x4 3| 14,660
>I0AHZ 7,632,000& *4.5/100 344
PALEE 7,632,000 x3.23/100 247
DAINRQYEE 246,5143 x8.51/100 21
>PNE2d 7,632,000&*1.5/100 115
DATHEE 7,632,000& x1/100 77
ANEIX=s&dst ,813,661
| 258,040
< 368,672
Al , 186,949
dEHsEsH ,013,339
= 20,000
Al ,993,339
HYLSPIP SN 494,897
301 LBEAF ,494,897
00z - 2S2S2 A3 494,897
OME %4 U ARH 2% 22|
6,000,000& x 14 6,000
OdgE (s, =4 ) =4 22 15,600
>PHEIRS 80,0003 304 A+ 12 2,880
Daot=ER3 20,0003 *304 A+ 12 720
> 2 el bl 150,000 *3M A+ 12& 5,400
> S AIJbAHI 100,000 34 2+ 123 3,600
DO, RAFJ 50,0003 *304 A+ 12 1,800
> Xts XAl 100, 000& = 1CH 100
DEINLRES 100, 0002 = 1CH 100
DEES(SEAE) 1,000, 000& = 1CH 1,000
OalgE Xtk Xl 3,000,000 » 14l 3,000
OMQlE NEK oA 391,677
>II=S(201, 63 1658 &4F)
3,459,200& x6021 x12& 249,063
DAEISE 3,459,200& 621 +23| x50/100 20,756
> HE SOt 3,459,200& 621 23| x60/100 24,907
DEEsEY 350,000& x621 x12& 25,200
> ==l 50,0003 621 x12& 3,600
> = Al 250,000& x621 123 18,000
D2 g 100,000& 621 x12& 7,200
DOtESY 80,000& 621 123 5,760
PNEEER 354,483,000& *1.5/100 5,318
DAUMEEZ 354,483,000& *1/100 3,545




A A2 A=
M ANMESELS
g4 dEHEsd (&)
SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2
DHAEE 354,483,000 *3.23/100 11,450
DAIRYEE 10,877,000& *8.51/100 926
>I0AHZ 354,483,000% *4.5/100 15,952
Oagddg &+ bl 80,000,000& =14 80,000
OMgE d2 oAy 734,665
>II2B(20, 73 958 &Y
2,571,900& 1521 x12& 462,942
PEISY 2,571,900 x1521«2& «50/100 38,579
> HE S| 2,571,900& = 1521 x2& 60/ 100 46,295
DEESY 350,000& =150« 12& 63,000
> ==l 50,0003 1521128 9,000
> = Al 250,000& =150 x12& 45,000
>PINEEE 664,814,000 *1.5/100 9,973
DATHEE 664,814,000 *1/100 6,649
DALEE 664,814,000& *3.23/100 21,474
DAINRQYEE 21,573,000& *8.51/100 1,836
>I0HZEER 664,814,000 *4.5/100 29,917
O2JHHE =% 400,000& 321 «12& 14,400
Ollal sdt(2E . s4,54)
80,0003 2121 x5 53] 42,000
OXXNEEHH (DT, S&, =4)
80,0003 2121 x 10 23] 33,600
OUNBEE (2L, S4,54)
60,000 2121128 15,120
O=uUlz Z&3 15,000, 000& * 14 15,000
O=NUz Z&3 15,000, 000& 14! 15,000
OaHE M=t &ZHl 150,000& 35 =+12& 5,400
Oagg daH AZXZ=H|
100,000 x3E =+ 12& 3,600
Oadg A3yl 7,000
DEIAIATHW ASIH 2,000,000 x 14! 2,000
Det=AASAAN HAZH 3,000,000 14! 3,000
DEIAISAAW ASIH 2,000,000 x 14! 2,000
Oagd m=tl 52,780
DEH=E(IT,S4,54) 250,000%*2121+23] 10,500
DEHES 200,000& 2121 x23| 8,400
>&I= 200,000& 1521 %23 6,000
DT-M= 65,0003 2121 %23 2,730
D> gsts 250,000& x2121 13| 5,250
>AINS(=Y) 200,000 521 %23 2,000
>EI(ET) 200,000& x521 %23 2,000
>ATOIISH(FA) 300,000 521 %23 3,000
> & d st 200,000& 2121 23| 8,400




SH ABASD
M AN MsEdst
ool WM SR o aw)
A B O9(SA) - NRANY - BES il 2
> EHOI = 150,000 » 1521 23| 4,500
Od&Edx =HEH ¢ 18,500
DA E 1,500, 000& *2H 3,000
P e Ry 1,000,000 10X 10,000
D> HHE OHE 500, 000& *2K 1,000
> 2SS 150,000 »5Q1 x23] 1,500
DIMRO(STINZR) 200,000& 2«53 2,000
>DYE 200,000& x5¢! 1,000
Os4dds =23&H ¢ 7,095
>=2dE 200,000& »52! %23 2,000
>0E 100,000 4 X %23] 800
Dol EJ104 150,000 *50H 23| 1,500
DOtRA OA 15,000& =150 33| 675
DEAMESH 20,000& +50H »23 200
> 8,000& 2001123 1,920
Osads 28 F# 4,460
DYetAIlE 150, 000& *54 750
>ZEA 50,0003 *3H 150
DOHOH=ZAE 300,000 *3H4 900
>E=2 40,0003 *5H 200
DI % E 80,000& *2H 160
>olsS 350, 000& =4 K 1,400
DAEEEH 300, 0002 =34 900
Oad8 &3 6,000,000& *5¢! 30,000
JECUN=UE X 290,000 290,000 0
307 21201 A 290,000 290,000 0
04 QIZFHALAIR B = 290,000 290,000 0
OM5538 ZAST0MSUHE &
290,000,000& =14 290,000
d2HE S4X , 188,442 2,163,246 25,196
201 Lyt bl 30,000 30,000 0
01 AFS 2tel ] 30,000 30,000 0
O1 gt=2Hl 30,000
DZRFC 23J 21l 30,000,000 =14l 30,000
307 glz2+ol & ,040,751 1,004,254 36,497
02 YAFHAANGEEE 624,254 624,254 0
Od=H= gdat XN& 250,000,000& =14 250,000
OdZHESNEX 2 374,254,000 * 14! 374,254
03 HAHMEE2LHES 416,497 380,000 36,497
OM=3AtR= el 376,497,000& x 14! 376,497
OXM=s3 A= 29l 40,000,000 14! 40,000




AN AZHSD
M AN MsEdst
oelr HEHSSY CER-ED
= d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
308 X EHSOIA 1,117,691 1,128,992 A 11,301
08 WSIIA20HetE = 1,117,691 1,128,992 A 11,301
T -8 IsE4s AN (s34])
218,000,000 =14 218,000
Ox=-28W MSAEXH KNI (RsAY])
899,691,000 » 14! 899,691
OEESIEAl =t d=24ATEZ e 40,000 0 40,000
< 20,000
Al 20,000
307 gl2tol & 40,000 0 40,000
< 20,000
Al 20,000
04 DIZHHALALSE E X 40,000 0 40,000
OHM1E HEEBEZAl F=H 8=LZTESUHE
40,000,000& * 14 40,000
< 20,000
Al 20,000
MEHSSH 2,183,522 1,379,668 803,854
J| 258,040
< 348,672
Al 1,576,810
AEMSEA 2 ¥ 2SN 14,560 14,560 0
201 Let24d] 1,000 1,000 0
01 At 2teltl 1,000 1,000 0
O1 gt=2Hl 1,000
PSS MEUz S 22H MA
50,000& »20¢! 1,000
202 Odl 11,760 11,760 0
01 = LH 4 Hi 11,760 11,760 0
OMsEA gR2F2 980,000& »12& 11,760
301 LEtEBA S 1,800 1,800 0
09 HALAHIXI &3 1,800 1,800 0
OdEN=XANEX W=
50,0003 621 x3 x23] 1,800
ZREESXAD & S92 e | 55,000 55,000 0
307 glz2tol & 55,000 55,000 0
04 QIZFHALAIH 2 = 55,000 55,000 0
OZ3EXAD & SHAUWI R
55,000,000 =14l 55,000
AFANEI(H) SSE Ul Nz 130,000 130,000 0
307 gl2tol & 130,000 130,000 0
04 DIZHHALALSE E X 130,000 130,000 0




2N
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A2 =S
AN E&d st
dHssd

SA - BB B () - MM - BES Ol &t o San HmEET
02020 F=AXII(HH) S=E sl M=
130,000, 000& * 14! 130,000
A HEAUAE HSUH HE 20,000 20,000 0
307 gl2tol & 20,000 20,000 0
04 DIZHHALALSE E X 20,000 20,000 0
02020 & F=Al H2AAME MU A
20,000,000& =14 20,000
ZASTUMEH S =8 120,000 80,000 40,000
307 21201 A 120,000 80,000 40,000
04 DIZHH A AL 2 X 120,000 80,000 40,000
OXNegsl L MEHEUH &
120,000, 000& * 14 120,000
ZREE 28 MEM=sUs &d 30,000 15,000 15,000
307 21201 A 30,000 15,000 15,000
04 QIZFHALAIH B = 30,000 15,000 15,000
OHM153 22T HE24A MHENSUHE =2
30,000,000 =14 30,000
Hza s &8 X2 15,000 10,000 5,000
307 glz2tol & 15,000 10,000 5,000
04 QIZFHALAIH E = 15,000 10,000 5,000
oozd sl &8 XA 15,000, 000& * 14 15,000
ZRSXADI(B) S & E3&IIUE &8 XS 77,000 57,000 20,000
307 21201 A 77,000 57,000 20,000
04 QIZFHALAIH B & 77,000 57,000 20,000
OZ2SXIADI(HH) Thal & E3l&IIUE &8
X& 77,000,000 =14 77,000
nsstn Hg M=sia = 130,000 100,000 30,000
307 21201 A 130,000 100,000 30,000
04 QIZFHALAIH B = 130,000 100,000 30,000
02020 Dssw Hg Msal =
130,000, 000& 14! 130,000
=X M=aHECIEHHE JHE 35,000 35,000 0
307 glz2+ol & 35,000 35,000 0
04 QIZFHALAIH 2 = 35,000 35,000 0
OHM153 2F=XAd @ BHEEUS M=l
35,000,000 =14l 35,000
AT & IHUAUS HE 35,000 35,000 0
307 glz2tol & 35,000 35,000 0
04 DIZHHALALSE E X 35,000 35,000 0
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OHM163 FAIEH E2HLUL AU JH=E
35,000,000 x 14! 35,000
2FEXE 2 ZAUE HE 35,000 35,000 0
307 2Iz2t0| A 35,000 35,000 0
04 SIZ2HSHAAISH E & 35,000 35,000 0
OHM13a =X 2WH Z4U3 M=
35,000,000& = 14! 35,000
AF=XI2 OtetEHal = 35,000 35,000 0]
307 212t0| & 35,000 35,000 0
04 CIZ2tSHALALS B X 35,000 35,000 0
OHM183 =X OtchEU S M=l
35,000,000& = 14! 35,000
Z0IMEHSs QF U3 HE 30,000 12,000 18,000
307 QI2t0| & 30,000 12,000 18,000
04 CIZ2tSHAPALS B = 30,000 12,000 18,000
OHM153 =20MEXNE QLEEI2US M=
30,000,000 1Al 30,000
XD 2023 W= 25,000 25,000 0
307 gizto| A 25,000 25,000 0
04 CIZ2tSHALALS B = 25,000 25,000 0
OHMI128] XD M=20t20Hal JH=l
25,000,000 x 1Al 25,000
FEXNL M=2F32U3 HA 35,000 35,000 0
307 2iz2tol & 35,000 35,000 0
04 DIZHEHALAFRI B X 35,000 35,000 0
OHMI123 FX2d E=2=3203 M=
35,000,000 x 14! 35,000
SFAEE =220 A 35,000 35,000 0
307 2Iz2t0| & 35,000 35,000 0
04 SIZ2ISHALAISH E & 35,000 35,000 0
OHM103 FFAZEB 8=2F32043 M=
35,000,000& = 14! 35,000
HAFEXH M= 2EUE =203 H=E 24,000 30,000 A 6,000
307 212t0| ™ 24,000 30,000 A 6,000
04 SIZ2ISHAAISHE E X 24,000 30,000 A 6,000
02020 & X2 8= s32U3 M=
24,000,000& x 14! 24,000
BHR A =2 0I2HEE N 10,000 8,000 2,000
307 QI2t0| & 10,000 8,000 2,000
04 CIZ2tSHAPALS B = 10,000 8,000 2,000
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OHM123 24 =20ItEW S HE
10,000,000 =1 Al 10,000
FEXNA 8= XD HHAZUE i = 30,000 30,000 0
307 2Iz2t0| A 30,000 30,000 0
04 SIZ2HSHAAISH E & 30,000 30,000 0
02020 EFXA =2 =510 BHAZS K
ES| 30,000,000& = 14! 30,000
2EE SKAEE2208 KA 10,000 8,000 2,000
307 212t0| & 10,000 8,000 2,000
04 CIZ2tSHALALS B X 10,000 8,000 2,000
02020 28U A2U=32013 =
10,000, 000& * 1Al 10,000
RAFAIZH 2R HEHZ2ZUSE JH= 15,000 15,000 0
307 QI2t0| & 15,000 15,000 0
04 CIZ2tSHAPALS B = 15,000 15,000 0
OM163 |Z=AEH LA HHZ2 OS] WA
15,000,000 « 1Al 15,000
QAFAIZH dRECAZZ2I0Y2 IHF 8,000 10,000 A 2,000
307 2iz2to| A 8,000 10,000 A 2,000
04 CIZ2tSHALALS B = 8,000 10,000 A2,000
OHM11e A& LR ATZXZI0|LUHZ
N = 8,000,000 =14l 8,000
ZEFC FFUZ = 32,000 40,000 A 8,000
307 2iz2tol & 32,000 40,000 A 8,000
04 QIZ2tSHAFALS B X 32,000 40,000 A 8,000
02020 ZEFC =03 M=
32,000,000 = 14! 32,000
LASFMOICIENHS &H 5,000 5,000 0
307 2Iz2t0| & 5,000 5,000 0
04 SIZ2ISHALAISH E & 5,000 5,000 0
OHM29s| ZRANOItEUS A
5,000,000 =14l 5,000
NALEHE “SAIEd B & 7,000 7,000 0
307 212t0| ™ 7,000 7,000 0]
02 QIZHBAAIE E X 7,000 7,000 0
ONQAHE LSAL B2X &
7,000,000 =14l 7,000
olausEE 29 X& 6,000 6,000 0
307 QI2t0| & 6,000 6,000 0
02 AI2AtAMAIE E =X 6,000 6,000 0
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A2 =S
AN E&d st
dHssd

Off &t 24

=
i
2

Oe2eHy 24 X¥ 6,000,000 * 14 6,000
AlEGH0] SBHE iz (S3HAl) 2,000 2,000 0
307 21201 A 2,000 2,000 0
04 QIZHHALALH B = 2,000 2,000 0
OalEstol settial M=l (SsHAl)
2,000,000% * 14 2,000
MEHEXNEI g5 N (24]) 86,904 81,864 5,040
Il 43,452
Al 43,452
307 21201 & 86,904 81,864 5,040
Il 43,452
Al 43,452
02 HAHFHANGEEE 86,904 81,864 5,040
OMeEXNsXNZI g5 XA
2,414,000& <321« 12& 86,904
Il 43,452
Al 43,452
HEHNEXNCX 25 AR 21,237 21,150 87
307 21201 & 21,237 21,150 87
02 HHFHANGEEX 21,237 21,150 87
OMaxs LBAZX BHXIAIY &3
5,757,000 =14 5,757
OMes LEREZ A BHXIAY =&
15,480,000 * 14! 15,480
e M=egs NI (2l) 86,904 81,864 5,040
Il 43,452
Al 43,452
307 21201 & 86,904 81,864 5,040
Jl 43,452
Al 43,452
02 HAHFHYANEEX 86,904 81,864 5,040
onza Msgs XN 2,414,000 31128 86,904
Il 43,452
Al 43,452
ozd dMsgs N 21,237 21,150 87
307 21201 A 21,237 21,150 87
02 HAHFHAANGEEE 21,237 21,150 87
OMENSE HEAXEX HXIAIY &H=
5,757,000& =14 5,757
OMENSE HESAUXEX HHXIAIY =2
15,480,000 = 14! 15,480
HeM=sgs X& 3,200 4,000 A800
307 21201 & 3,200 4,000 800
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04 DI2HHALALSE E X 3,200 4,000 A 800
Ondi=segs N& 3,200,000% =14 3,200
A2 01EEA N 244,480 200,080 44,400
J| 171,136
< 36,672
Al 36,672
301 LA S 244,480 200,080 44,400
J| 171,136
< 36,672
Al 36,672
01 MEIBEE 263 244,480 200,080 44,400
OAZ=2H 023 X 244,480,000& 14 244,480
J| 171,136
S 36,672
Al 36,672
MEHsZEzld 29 74,000 60,000 14,000
< 12,000
Al 62,000
307 glz2tol & 74,000 60,000 14,000
< 12,000
Al 62,000
02 IZtE M AHE L 74,000 60,000 14,000
OMExswa AE AHEZ 50,000,000 *14) 50,000
Odarsusy 2 24,000,000& =14 24,000
< 12,000
Al 12,000
2020 MIAICHS: XIoeld d==2Wa = 500,000 0 500,000
= 250,000
Al 250,000
307 21201 A 500,000 0 500,000
< 250,000
Al 250,000
04 QIZFHALAIR B = 500,000 0 500,000
02020 MAHICHE XI02lE d+=3TH3E
500,000,000& =14 500,000
< 250,000
Al 250,000
A=Y INLE =F =2 U3l Mzl 100,000 0 100,000
= 50,000
Al 50,000
307 21201 A 100,000 0 100,000
< 50,000
Al 50,000
04 QIZFHALAIH B & 100,000 0 100,000
02020 E=8 =ME =2 U3
100,000,000 =14l 100,000
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= 50,000
Al 50,000
AL DEUE M=0US H= 40,000 0 40,000
307 2Iz2t0| A 40,000 0 40,000
04 QIZHH AL AR 2 & 40,000 0 40,000
02020 FAIEH MNEUHE HSCHS HE
40,000,000 =14l 40,000
2II2s g4 375,200 190, 100 185, 100
/FZ0/2 24 XN 210,000 70,000 140,000
307 QI2t0| ™ 210,000 60,000 150,000
05 QIZtREZ 210,000 0 210,000
Od=x=g0lZ2 8¢9 210,000,000 = 1Al 210,000
SMNEANSEYE 29 10,200 11,100 A 900
201 gBt2Ad| 10,200 11,100 A 900
01 AF 2t 2| H| 10,200 11,100 A900
O1 ger+gl 10,200
DEAMEZAIZFAHZ 2ZAXNE HE
400 8,000 3,200
DEAMTAISAHZ SOt T I &
700,000 =104 7,000
QA=A DI & JH F| 25,000 25,000 0
307 2iz2to| A 25,000 25,000 0
04 DIZHEHALAFRI B X 25,000 25,000 0
OHM163 FAtE Z2IIHEX I =
25,000,000 = 14! 25,000
F=2HZINFAH 130,000 0 130,000
307 2Iz2t0| & 130,000 0 130,000
04 SIZ2HSHAAISH E & 130,000 0 130,000
02020 EF==2HZII=H 130,000,000 =14l 130,000
e MEsd 241,600 125,000 116,600
0o MEsg2s A3 55,000 55,000 0
307 2iz2to| & 55,000 55,000 0
02 QIREA A AR B 55,000 55,000 0
OHMAUMEE=XNE 55,000,000 1Al 55,000
2RO MENMEUHE A 45,000 40,000 5,000
307 2I2t0| & 45,000 40,000 5,000
04 QI2HSHAFAFRIE X 45,000 40,000 5,000
OM133 L= HHC MESHEUHE &=H
45,000,000 =14l 45,000




% S 4 14
NS - o9 (3H) - MEAY - B %Eﬁ HR=2
SOl AL SHA JHE 30,000 30,000 0
307 2Iz2t0| A 30,000 30,000 0
04 SIZ2ISHAAISH E & 30,000 30,000 0
OOl ALx SHAI I = 30,000,000 14! 30,000
Z0e Mtz s&8Xd 20,000 0 20,000
307 2iz2tol A 20,000 0 20,000
04 QIZ2tSHAFALS B X 20,000 0 20,000
O&e H=lts =24 =8 N
20,000,000 x 14! 20,000
oo M=3 KA 91,600 0 91,600
307 2Iz2t0l & 60,000 0 60,000
03 QIZIHHAES2IHIEX 60,000 0 60,000
OHMAM=EE AFR= Q124H|
40,000,000 =14l 40,000
OHMAUM=EE AIR=2 29|
20,000,000 = 14! 20,000
402 BI2H X 20| M 31,600 0 31,600
01 SI2ZEXIEANSE X (MMM A) 31,600 0 31,600
OXHMHIMES AFR=2 EII(PC,AFSEDI)
31,600,000& = 14! 31,600
qE= , 115,300 1,677,302 6,437,998
= 410,000
J| ,500,000
o= 720,000
Al ,485,300
SZHSALES 6,315,400 503,312 5,812,088
J| 2,500,000
o= 378,000
Al 3,437,400
FF HGHAYE 0L HY 4,210,000 0 4,210,000
J| 1,200,000
Al 3,010,000
401 Al HI L 2 0HHI 4,210,000 0 4,210,000
J| 1,200,000
Al 3,010,000
01 Al & H| 4,100,000 0 4,100,000
ORF LAY 2WAHSHE 2Y
4,100,000, 000& = 14! 4,100,000
J| 1,200,000
Al ;900,000
02 2teld| 100,000 0 100,000
OoZeldl 100,000,000 =14l 100,000
03 AlE 21| 10,000 0 10,000




M A2 s
st

M HMESALES
Sl BIUSALHS (S &2)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
OAZ =t 10,000, 0002 14! 10,000
SAZA SEMSHH HE 49,400 0 49,400
401 A& HIZ 2018 49,400 0 49,400
02 2feldl 44,000 0 44,000
OZeltl 44,000,000& * 14| 44,000
03 Al 2 THHI 5,400 0 5,400
OAIE =TI 5,400,000 » 14! 5,400
AN =SEMsdH AE 2,056,000 0 2,056,000
J| 1,300,000
< 378,000
Al 378,000
401 A& HIZ 201 I 2,056,000 0 2,056,000
J| 1,300,000
< 378,000
Al 378,000
01 A& HI 2,056,000 0 2,056,000
OJIEZ Al SEMSHE HE
2,056,000, 000& 14 2,056,000
J| 1,300,000
< 378,000
Al 378,000
MEHSAEEHS 1,554,740 939,270 615,470
s 410,000
< 342,000
Al 802,740
ST 28 MEMSAE & 100,720 100,720 0
401 A& HIZ 201 I 100,720 100,720 0
01 A& HI 100,000 100,000 0
O 28 MEHSAME X (s
100,000, 000& 14 100,000
03 AlE 2 THHI 720 720 0
OAIE bl 720,000 » 14! 720
HOIEEE =4 150,720 150,720 0
401 Al HIZ 2018 150,720 150,720 0
01 A& HI 150,000 150,000 0
OAHNOESE ZdIA 150,000, 000& 14 150,000
03 Al 2 THHI 720 720 0
OAIE =TI 720,000 » 14! 720
SE2sE ANOEEE I3 JHISA 200,000 0 200,000
s 60,000
< 42,000
Al 98,000
401 Al HIZ 201 Y] 200,000 0 200,000




AN AZHSD
E: HEALHE
Sl MEISALSS (e
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
e 60,000
< 42,000
Al 98,000
01 A& HI 200,000 0 200,000
OSE2sd AJNOELEE I3 FHISA
200,000,000 =14 200,000
as 60,000
< 42,000
Al 98,000
SClEHE Z&4TE ZHAY 501,200 0 501,200
s 350,000
Al 151,200
401 Al HI L 2 THHI 501,200 0 501,200
s 350,000
Al 151,200
01 A& HI 500,000 0 500,000
OBeleifst AT LAY
500,000,000 =14l 500,000
s 350,000
Al 150,000
03 A& S THHI 1,200 0 1,200
OAIZ2 2 HI 1,200, 0003 14 1,200
PHMSISY SE7F AUXZEC0 HEFAY 501,200 0 501,200
< 250,000
Al 251,200
401 AlEH 22 OhHI 501,200 0 501,200
< 250,000
Al 251,200
01 A& Bl 500,000 0 500,000
ORANESSE =7 A& MHEFAMS
500,000,000 =14 500,000
< 250,000
Al 250,000
03 A& =2 THHI 1,200 0 1,200
OAIZ S THHI 1,200, 000& 14 1,200
B2 H0IEEE ZAAMY 100,900 0 100,900
< 50,000
Al 50,900
401 Al HI R 201 I 100,900 0 100,900
< 50,000
Al 50,900
01 A& HI 100,000 0 100,000
OBrs HOIESE ZHAMY
100,000, 000& * 14! 100,000
< 50,000
Al 50,000




AL HSE N
CHSAEE

=
MBS AE

s as

= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
03 AlE 2 THHI 900 0 900
OAZ =l 900, 000& » 14! 900
SUHIXNSANEES 245,160 234,720 10,440
SUMSAE X & |X22 245,160 234,720 10,440
201 L4l 43,000 34,000 9,000
01 At 22l 13,000 4,000 9,000
O1 get=2Hl 13,000
DESUMSAE 228 =24
13,000, 000& * 14 13,000
02 =24l 30,000 30,000 0
O1 3322 ¥ HA 30,000
PSUMSAE 322  30,000,000& x14! 30,000
401 AIEHI L 201 202,160 200,720 1,440
01 A& HI 200,000 200,000 0
OSUHMSEAE X € 2=+
200,000,000 » 14! 200,000
03 Al S THHI 2,160 720 1,440
OAIZ 2 HHI 2,160,000 » 14! 2,160
S x4 2el 4,057,000 4,348,300 A 291,300
s 1,000,000
< 550,000
Al 2,507,000
H=s3dX4 4,057,000 4,348,300 A 291,300
s 1,000,000
< 550,000
Al 2,507,000
BHEXMSEX W M402E =4 3,600,000 4,177,300 A577,300
s 900,000
< 420,000
Al 2,280,000
401 AIEHI L 20HEI 3,600,000 4,177,300 A 577,300
s 900,000
< 420,000
Al 2,280,000
01 A& HI 3,600,000 4,170,000 A 570,000
OHEMSHX L H40E72E =4 3,600,000
> 2 AbHI 3,000,000, 000 * 14 3,000,000
s 900,000
< 420,000
Al 1,680,000
> & XI 04 2 HI 600,000,000 » 14l 600,000
BHEXMSEA OFE 2SM UFXE SXNSA 123,000 0 123,000
< 60,000
Al 63,000




A2 H =
2AxABR
EETESE CERED
SA BB (3H) - NRAY - B ﬁlgﬁ HRE2
401 AlEHIZL 2 0HY| 123,000 0 123,000
== 60,000
Al 63,000
01 Al&H| 120,000 0 120,000
OEHEM =X O & 2SS AR X2 EX
120,000,000 * 14 120,000
&< 60,000
Al 60,000
02 22ll 3,000 0 3,000
O&eldl 3,000,000 1Al 3,000
EH&E MR M20F2 & QI XRXC|] X2 A 334,000 0 334,000
g 100,000
& 70,000
Al 164,000
401 A& H|IZ 2 0HY| 334,000 0 334,000
g 100,000
& 70,000
Al 164,000
01 Al& H| 334,000 0 334,000
OEIEM =X H20t72& o XXC] X Z2AH
334,000,000 x 1Al 334,000
Fag 100,000
=} 70,000
Al 164,000
HMSHAY (HLHESH) 79,136 71,018 8,118
A2IY|(HLHE W) 41,878 37,948 3,930
A 2AH| 41,878 37,948 3,930
101 124 H] 41,878 37,948 3,930
01 2 40,986 37,077 3,909
OAZt224% 10,509 *13Q21 *300Al 2+ 40,986
03 2INHAZ2ZXNHE %= 892 871 21
Oz E 892
DEAAMIA(SHMSAIE 22])
14,855& x 121 x60 Al 2+ 892
AU (A2 HED) 37,258 33,070 4,188
=&t 37,258 33,070 4,188
201 et | 22,318 22,030 288
01 AP 2t 2| bl 20,040 19,752 288
O1 Let==H| 16,008
DEANSH 224 (2AXL 158)
14,508,000 = 1Al 14,508
DIOEgHI EY, EH 300, 000& «5CH 1,500
O5 S| 4,032




AN AZHSD
M HY2IAZH (AL HS)
gel: J2dH(Ad2HMs) (&)
SA - BB B () - MM - BES Ol &t o San HmEET
DOt - 5222 8,000 x1401x33| x 128 4,032
02 2324l 2,278 2,278 0
O1 3322 ¥ HA 1,278
DRERS 2,130@ *x5021 128 1,278
O3 A& &t 1,000
D> = A 500,000 = 1CH *23] 1,000
202 odl 8,040 8,040 0
01 = LH o4 1l 8,040 8,040 0
OJl2g% 420,000& 123 5,040
OAHLZ Al 3,000,000 » 14l 3,000
203 R =&t 3,000 3,000 0
04 223 3,000 3,000 0
ORNE2Y 250,000& 128 3,000
405 TtHabF S| 3,900 0 3,900
01 ML ES 3,900 0 3,900
OPC(1LAl) 1,300, 0002 *3CH 3,900




